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FIRST TERMINAL EXAMINATION - 2017 

BIOLOGY 
Maximum : 60 Scores 

Time: 2 hours 

Cool off time : 20 Minutes 
Preparatory time : 5 Minutes 

General Instructions to candidates: 
• There is a 'Cool off time' of IO minutes eachforB:Jtany and Zoology in addition to the writing time 

of l hour each. Frnther, there is a '5 minutes' Preparatory time' for Zoology at the end of the Botany 
Examination. 

e Use the 'cool off time' to get familiar with questions and to plan your answers. 

Read the questions carefully before answering. 
• Calculations, figures and graphs should be shovil1 in the answer sheet itself 
• Both English and Malayalam versions of the ques.tion are provided. 

Give equations wherever necessary 
® Nonprogrammable calculators alone are allmved m the Examination Hall. 
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Q6T@:}8il0)7ce@;o cfu4506)(ID Cl6DJ0§6T01 ruC1l'lc0illcdlc85)j<l@,B:Jo '5 12llmlg' cr-::2ciruo~~1 riJC1l'lcfu'l:1CDli,6)5 (ID(QJ:)6)05!, 

aj}mu3 ms0JTI)6CmQYJ1mocw1 mco8ceo6on®o6Tl'5. 
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((Ilg) ()J CJo c\ Ill!, glli (TUO e.J cmm cru i2l OJ'.) cfu c\ 6Bl3u8 @cfuO S 6 c95) :::mo. 

r-BVLlOl(J)Ofll,lcfucfcl 6)D....l<:g;OCDOc&:,JCclm) d'l:iOC'J8cB6>i, (ERJgo;c2-o•:J~ 0'.)l(DJ<Elll (iJn.JClm>OWlJ¼)Cl® o.J'JS/,~l· 

PART~ A 
BOT\J"\TY 

Maximum : 30 Scores 
Time : 1 hour 

Cool off time : 10 mts 

I Answer all questions. Each question 

carries 1 score. 

1. Observe the relationship between the first two 

terms and fill in the blank 

Inf 1e : Cellulose; 

Exine: ---- (l) 

2. Choose the correctly matched pair. 

(a) Hilsa - Fresh water fish 

(b) Sonalika - Rice 
(c) Atlas 66 - Wheat (1) 

I "ill~ '.l Cl~ '.l B .!i r,m c.13 c96l :! o ~ ClJlID© o ~~;; ® :i &. 

iil'.lG@:J c~.'lCJ.!_i ©m)lcn~ o 1 ClU<:lcfh'.l@ ru'l®o. 

1. CIDqif3_,\@<mo) (1)6TB oJf36GB~J@S 6flJCT\Do mlm'1 

tth'l::11~ rul36 GoJOCQl @Cl(l)o n.J),@1~1c66)Jcfu. 

I 
..:..,. 

gQCTO@@QCTO @cru~J <lleJOcru; 

o4)~6)6)(T\)(0 : ··························· 

cm co 1 CQJ o CQl oJ8 G@:2 o s ~ @ cm m@ 6lITT1J) s J c66) ;i cfh . 

(a) n.0lmocru cm2cmme.10mro,10 

(b) @cruomoi::>Jlcfu 

( C) CTffi>g'm:>.1cm 66 

(1) 

( 1) 
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3. Choose the correct answer. 

Bulbil is the vegetative propagule in 

(a) Onion 

(b) Ginger 

( c) Bryophyllum 

(d) Agave (I) 

II Answer any six questions. Each question 

carries 2 scores. 

4. Given below are names of certain organisms: 

l\rlule, Hisardale, Rohu, Sardine 

Find out the breed of sheep from the above. 

How this sheep was developed':> (2) 

5.. A microsporangium is surrounded by four 

layers. Name the first three layers and write their 

function (2) 

6. Chromosome number in the meiocyie of ce1tain 

organisms are given below: 

(a) House fly - 12 

(b) Maize - 20 

(c) Dog - 78 

(d) Apple - 34 

Find out the number of chromosomes in their 

gametes. (2) 

7. Fruit formation in apple is different from that in 

banana. 

(a) How do fruits develop in them? 

(b) Write the names of these fruits. 

(2) 

3. cm 0 l CQ) o cw 112 cmm 0 o @ cm 0@ 6Timl) s J c:00 j c0,. 

6TlJ u3 6T1Jlro8 nLD cm c0, o CQ)l c0, L nJ m m m@o(J) o 

r:0,osm6cm@. 

(a) &?~1 

( b) 212 61m.J1 

( C) l6TlJ<llCQJOnJJ1~o 

(d) ®3a:(J)o'i (1) 

II "tj) Ei) (()) lib 1 eJ d O ~ (} G .1.1 :J (3 J 6?D3 c,3 <ll6) 

~mIDOEiliDWdCIDd.a,• 61:JCW>:J G.cu:JBJ©lIDlmdo 2 

TuG.9,:J@ ru'l@o. 

4. 2..Jle.i m10Jlr:0,§6@s a:n.J06r:0,u3 @o@w <mcml0l 

07)} ~(TT);-

1} J: C/3' ,101 CTl):) c3 Cl CU) CDJ ~' Cl (C):) rill d' 

TUJ©,>6)CWC@ 

gJ2cml08 @2..12l2l0lcrrosl6)~ 212mo (L6l1J'lcw) 

ca, 6) 6ffi am) 2 d, . gQ n:i gQ m O ()_J 1 c0, mi 1 ~ 1 ~ cm 
"cJl 6Bl3@ m? ( 2) 

5. 530J 6)@0a:~r:0,om56)nJ0006lsll.flCQJo moei ~OJ 

co sm ®3§008 2..IJR @~ ~ crno 6TD. 212cml08 

~ 8,)@ mrm !2iJ cm ~ OJ 0 sm 6ID3 22 6 6) s a: nJ@ 0 

'9J cml <m'oOJCWJ@S W012lo nq)'S'J (())Jcfu. ( 2) 

6. 2..11 eJ m, OJl c0, § J @ s 12l 1 a: CQJ o @ 6) cru gl 6) e.i 

Cz(.d> JiZICWDJo rnJ::i6l.Jl @06)<9 mro8c0, 1CQJ10lc006 
cmi. 
(a) @'D-9,f 12 

(b) <ll.!l.JO~o 20 

(c) mow 78 

(d) ~~lu3 34 

®OJCOJJ @s 6TlJl@;l<BcfuJlf06lffi§l@QJ Gcah0/2lCPITT.lOo 

,Tl) o 6lJ.) n;J) !9 J «Y> 6 d3, . ( 2 ) 

7 -~~l§lQ.160 OJO<J'CQJleJJo 06TI5J co'lcm1COJleJJ6m' 

-ill eJ 6ffi3 u8 &? 6TI5 OcB:, 6 cm cm. 
(a) 212 OJ CQJl m3 n.0 e..i 6m3 u8 g;i 6ITT o c£h J cm cm 

nfJ) 6BT3@ m ? 

( b ) @o(ITT(J) (1) 0 n.0 QJ 6lffi §J 6) 5 (il n.J6) (c)ml)? 

(2) 
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8. Observe the figure ofC/:zara. 

Write its sexuality. Justify your answer (2) 

9. Wind is a common abiotic agent of pollination 

Write any four features of wind pollinated 

flowers. (2) 

10. Based on the nature of development of zygote, 

animals are categorised into two. 

(a) Name the two categories. 

(b) Which category has greater chances of 

survival of young ones? Justify your answer. 

(2) 

11. Analyse the table and fill in the blanks. 

A B 

Remnants of nucellus a ------
b Filiform apparatus --------
C Pericarp ------

Embryonal axis above 

the level of cotyledon d ------

(2) 

,m rn 76)~ 6)ffi)tth91J:) 8..ilgl o4) om? g2((JT0)0o m 1 OCQJ"lcfh 

-'cllc86)6cm. (2) 

9 @ 0 6 L nJ w om ®o@ 6) ~ ru nJ © o (J)6fficfh o © 1 CQJ06TD 

c0,og. cfuog16)CTR cmnnocwmm):)C:08 oJ00(J)6ffio 

msc05)6(TT) rulcOO§J6)S moe:i lru~<mJ,cfu@cfuu8 

n-0)!1\l®Jcfu. ( 2) 

1 0 . cru 1c6(ID 06TTU)o OJ§© 6 (TT) 01 cm 16)CQJ am, s7ouo o 

m@ ~s6cmm7 ~"l ru7cfh6)2} 06ITT rul@O(J)6<IDgpCQJ7 

@7©7~7©7.00 J (TT) 6· 
a) @'D ©6IB ru7@0(f)6ID3~6asCQJ6o ~oJ6)0mi5? 

b ) .c:0, 6 Gmm) j 6m3 OOd¾) ce, ;i s 6 @ coo (7J@ cm 7 m 'i OJ m 

ffi):)<..l)<',(ffi ~~ OJ7@0(J)o nmcm? ~(Ql'O)(()o 

ffi_,\0CQ)!cfu07cOOJcfu, (2) 

11. ru37clh OJ7U?)i:a,8.Jmo 6)~CQl® ru7 36 aoJOCQJOJ 

nJ l m 1<;tJ7,oo 2 c&., • 

A B 

m J,l 6) cro ~ (T\)16)0'A 

«llclOJWl ril15 o 
a 

-------
b a0 le.fl <1 aDOo ®<I ',tjO <ll R rn'5 -------
C 6)n...J{1)1cfu0©'k! -------

Q d3:i0 ~ 18.Jl (U) 6)0R ( 6T2J'lm n...JLm ' 
cmm16)1) m1©',tjlro3 mlcm6o 

g2 (Q)d cm 6 cnlro3 d36> 6 cm 
d 

n(j) o c 6TlJ 1 <1 W 06m ro3 -------
(1Jl'g) ab crol rn'5 

(2) 
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III. Answer any five questions. Each question 

carries 3 scores. 

12. MOET is a programme for herd improvement. 

a) Expand MOET. 

b) Explain the procedure ofMOET. 

(3) 

13. Double fertilisation involves two types of 

fusions. 

a) Explain the two types of fusions. 

b) What happens to synergids and antipodals 

after double fertilisation'? (3) 

14. Observe the figure given below. 

a) Identify this kind of asexual reproduction 

in yeast. 

b) Write any two differences between sexual 

reproduction and asexual reproduction. 

(3) 

15. Certain parts of the embryo are given below : 

Coleorrhiza, Root cap, Radicle, Scutellum, 

Plumule 

a) Choose the parts seen only in monocot 

embryo. 

b) Write the stages of embryogeny in a dicot 

embryo. (3) 

III. ajl(;)@m,1e.i6o <mGIDJ Cl.cLJJC1~6mCl3.aG> ~ffl'ID(l) 

&llDWJ®Jdb. EilJCl(l)J Cl-'l.JJ(l~fflmlmJo 3 cruGdbJCO 

c1J'l@o. 

12. 6)0~6)\83 212mo dhCTDJ ce,:::,e..i1cfu6)~ g2®n.JOB19dlc66):::, 

m~~ 630J 000(1)006TT5 MOET. 

a) MOET ruln.J6e..i'lcfu01c%)Jcfu. 

b) MOET 6)(1R o.e.i 3 6ID3u3 rulcmB"ldh01c66)Jcfu. 

(3) 

13 . (() 6TB <m © 0 Cf\) 0 (] CQJ O C/)6lffi u3 g2 (13 6) \tl 5 6 (TT) 

@06m BJ1m.i"l~cruoa:CQJ::>(l)o. 

a) ©6TB@©o cruoa:CQJO(l)6lffiu3 OJ1CR>B°ldh©1 

c:OOJdh. 

b)BJ1m.i"l ~ cruoa:CQJO(I) <mm1 m 6 GCR>~o 

6) 6) cru ffi@ §;l1 CW J. ah u3cOO 6 o ~ (@Cfo.J O CW e.JJ 
cmu3c0060 aj)(W) cruorsru1c006(TT)6? (3) 

l 4 . cm o@ !P cm CTD 101 c&i> 6 cm .n ... fl l <mo m 10 "l ,fu9:::fl 

cB6);c:0,. 

a) CQJ1~16le.J 21:YD lnJ<m~JeJnJ:)(3ITT@°lcml cml07 

~ o l1216 cfu. 

b) @6)8.Jo(f)lcfu Ln.Jcm~6eJnJOBITTOJ6o <l31o6)6)8.Jo 

(f)lcfu (n.Jcm,1,6 £!1 n.J08 mru6o ®12!2)7ei6~ 

06m ru~rnpmi6cIDu3 n4)!PJ®Jc0,. (3) 

15. L@i6ll)cmm7@CTR .n ... JleJ (s0(1)6lIB§06m (ffi06)!P 

cm (TT) 7 01 c00 6 cm @ . 

CldbJ~lG(Il)J f;l(;)O cru, Ol~ db.P~, OJC\.lll 

c001CJ3, cruca,l3~o, 1'l~l111~4c,3 

a) G:i2l0G:6ll)O(kfu0§ L<sJ6ll)<mmlm3 12lOL<mo 

c0, o 611) 6 cm rs o (/) 6lffi u3 @ cm 0@ 6mlID s 6 c00 6 c0, . 

b) @@CWG:&0§ n{J)oL6TlJlG:CQJOCQJ6@s "4)oL6TlJl 

G:CQJO@.!ITTlCQJl@ei rulrulw nQJ36lffiu8 "B)!PJ 

ID>Jc0,. (3) 
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16. Breeding a new variety of a crop involves 

different steps. Write these steps. (3) 

1 7. Observe the figure given below. 

a) Name the parts 1, 2 and 3. 

b) Write the peculiarities of the identified parts. 

(3) 

18. Dairying is the management of animals for milk 

and its products. Write any six components of 

dairying that help to increase yield and quality. 

(3) 

16. 63©J nJJ®lCQJ ~mo OJl§ ~CITTnJOB1~7c006<TTJ 

an lro3 nJ ~ ne.i 3 6ID3u8 g2 u8@ ~ s J <TTJ J. ~'D 

n.eJ 3 6ID3u8 nffi@ (?J) 0 6) cB6) CQ) 0 6TT)? ( 3 ) 

1 7 _ rn::>@w cmcmla>ld36)JCTD .!l.JlL<mo m1m1<B&fl 

d6>Jcfh. 

a) 1, 2, 3 (3::)(1)6ID3§J@S <BnJ© ntj)!l'J®Jcfh. 

b) cm1ro1~o16mm) !3::>(J)Ei?ffi§J6)S LnJ<B®~cfh® 

ce,<J8 ntj)!l'J®Jcfh. (3) 

18. nJoeflm6o nJOro3 ~ro8~cm6mu8c00600CQJ1 

0~ m 6ID3@ ~ nJ m 1 nJ o efl d36) 6 <TTJ an o 6TO cw CQJ o 1 

COl1613. C\.DCQJ01<nJ16Blro3 nJOefl6)~ am,~QJJo 

(J) J 61T) OJJ O OJ©rIDl ~1 c86) ::>cm (l"\)nf>() COll cB6) 6 cm 

~O n.e.JScfh6ID3u8 ntj)!llJ ®Jcfh. (3) 
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PART-B 

ZOOLOGY 

Maximum ; 30 Scores 

I. Answer all questions. Each question 
carries one score. 

1. Study the relationship between the first 
two words and suggest a suitable word 
in the fourth place 

a. Down's 
syndrome 

TLtrner's 
svndrome 

45 + XX/XY 

(1) 
2. Developing male germ cells receive 

nutrition from ................ cells 
(1) 

3. In human females, fertilization takes 
place in . . .. .. .. ..... (1) 

a) Uterus 

c) Vagina 

b) Cervix 

d) Ampu1lary 
isthmic junction. 

II. Answer any six of the following. Each 
question carries two score. 

4. In India a statutory ban is imposed on 
foetal sex determination test based on 
chromosomal pattern of amniotic fluid. 
Name the test? Give reason for this ban? 

(2) 

5. Syphilis is a sexually transmitted 
disease. Give two other examples of 
STDs? How can we preventSTDs? 

(2) 

'Time: 1 hours 

Cool off time : 10 Minutes 

I. (>_;jj (:'~ J (3 .!l.J J (l .l> 6fil3 CJ3 d}6) 10 ~ @m)(Z) 0 ~ lJ\J@ ~ .Jh, 

;nc:oJ G.!l.JJC],liCTM)l'.Dao 63Cl>J cn)Gd,J@ru"l@o. 

1. mq/3 Ji 061'13 nJ B G! 82 o M lc0, ~ ~ 6) s 6llJ m.u o l2l m cm 1 

f2..IJcB5'l7 moe..iJi2l@cmm n..JBo n(J)~J®JM. 

2. 

3. 

a. cw 'D 6TTB (T\) 

(llJ 7cm GILM::>o 

S00s6TT)<91'.TU 

rnllcm Q ( M ::i o 

n'i1® e.1rslc06> 6(1T)@ 

mlCTDJGm. 

: 45 + XX/XY 

(1) 

cru L cm~ c0, ~ 1 m3 6ll.l~ Sl ffilo (] CQ) ::> (I) o ITT Sc06J j CTn <m 
........................ m3 (GTQ)6m. (1) 

a) m c8 3 o cm CD) o b) @ cru c8 rul c& rru 
c) c11@@gim d) ®q)on.J6eJo1 

2IJCTD@ ;i, 0 lcEb ~ o cJ5 cfr:J® 

I I. (ll)J~CJ) o>dh3 Sjffil)) h k1}6)2(TlXl.m)1co3 a(jJ6lCTOOb 1~ 0 

A11)0 CLiJ'.J'.1,liorIDCJM6> ~arnoo>6lWlID~.a,. o~JGCl>J 

l'.6.cu'.JCl.liml))lm~o Cl>t>TE CT00.9:,'.J@ nll@o. 

4. @Cl0)1CQJ1m3 IIDo2l<Dla:CQ):)gj1c& LBOJcmm16l8..I 

GLa-,00a:cruo06c0,c.m nJ01a:®ow1~ (J)@@ffil n®l 

cm;, rul@CTR 8.1lo(f)mlc86™CQ)o mscmm6crn<m1m 

en lCQJ!2ln.J(1)(2)JCQ) (i))S~0;!6TE. g;grD n.J(1)1(]LJO:JW 

mCQ)66ls a:n..Jci5 nfilCTITTOGm? @'D mlCQ.)0 ems~ 

cmmlrn &JC1>6TD@0(T())? (2) 
-::>. ffillnD18..11CTD 63C1lj @6)eJo(f)lc0, a:00(1)006TD 

(nmcru.gl.cwl.). r2lQ ©6m 6l@e.Jo(f)lc0, (]©0(1) 

6lffi~~6)S G:n.J6)(1)~6@ 6c0,. g)20:> (](1)C)(J)6lffic.m 

( n(j) en:;. g 1. cwl.) n.Jc0, (0 ;i,crn cm n(j) 6ID36)(T) ans CQ)C)o? 

(2) 
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6. Identify and define the following cross. 
(2) 

6. cmo@w @d'hOSJ(1JT0)1©1c66)J<Tn ru1tcmcmm1<03 

c£h o 6m 6 cm <BL d'h c> cru <>{B @ <ID rn c0, @ 6l1s (1JTO) 1 

m1<Bg,iru1c66)6d'h, (2) 

Homoqgou.:o.m 
TeCt.'SSlVe p 

7. Copy the following diagram. Label A 
and B. What do these cells differentiate 
into during embryonic development? 

. (2) 

8. The table given below shows the 
different stages of human embrvonic 
development. (2) 

-Match columns A and B appropriately. 

A B 
Month Changes in the embryo 

l8\rnonth Body covered with hair 

2nd month Fully developed embryo 

3rd month Limbs and digits 
--

4th month Heart 

>< Major organ system 

r1, 
w w 

WW WW 

7. @0@!9@c66)0S J (1JTO) 1© lc8@J <Tn rul <ID o n.Jd'h©aJTO) J 

c£h. A, B ~OJ <BT<)SCD)0~6)'J:!SJ(1JTO)Jd'h, lBl6IDO 

OJ§©Ja:mJoo3 ~'D G:dhOUll6m3u8 (A, B) n(j)CTmOCD>l 

©Jn.Jo Ln.JOn.J1c66)J<TnJ n(j)CTT) n(j)!PJ@Jdh. (2) 

8. 12lffi,ln9::!Ji lBJ6mcmml@~ QJ~ffi-9JCD>,16)S nflrulw 
neJ § 67ID u8 dh o 6m 1 c66) 6 cm n.J 31 c0, ru 6 ru@ s 

@d'h0SJmT001©1c86)6cm6. (2) 

A B 
11l::J(ll)o L©l 61l)<l>m1mi 61E:Jcfb,l cm t.D::>go 

63CTD0o t2lOCTU l ®©°l©o G:©012lOQJ~(1))12l0dhJCTDJ. 

06TTs Oo 00CTU) n.JJ©6"]}J QJ~©~6)CQJmro,1CQJ lBJ6mO 

i2lJCTDOo i2lOcn: p @@cfbcfuOeJJcfb~Jo OJl©eJJdh~JO 

moe_ioo 00m. o ru)~BCQJo 

>< vu w om CTno 01 CD> ru OJ Ji OJ cruodhu8 
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9. Expand the following: 

a) ZIFT 

c) IUl 

b) ICSI 

d) ART 

(2) 

10. Diagrammatic presentation of ovarian 
hormone levels in hum an female 
during menstrual cycle is given. Draw 
the graph showing the levels of pih1itary 
hormones during this cvcle. (2) 

11. "Breast milk is the best food for nevv 
born". Write your opinion (2) 

111. Answer any five of the following. Each 
question carries three score. 

12. Human beings have different blood 
groups. How co-dominance work on 
human blood groups? (3) 

13. When true breeding red and white 
flowered Snap dragon plants were 
crossed, all F

1 
hybrids produced pink 

flowers. 

a) Name the phenomenon. 

b) Constructthe monohybrid cross in 
Snapdragon. (3) 

r1) ZIFT 

c} IUI 

b) ICSI 

d) ART 

(2) 

10. en\ cm "l dh ~ l@e.i ~ ell Curo) OJ .ciJ l c0, cru 0 w @(IDO) 

®oITTWO cm (Q) <lio.D00 (] Q)C) 6TT) Jcfu ~66)5 ®o~ 

ClJ76)c~ rul(,cm"l c0:, C06TDo rnm3c0, 1 cwl@lc06) 6 (TT)6. 

gQGCOl c&QQ.l(Il)~OJlGS n.JlCDJJcillLUXTl.Ol g2(D)n.J'.) 

81 q:Jlc06)6(TT) Q:,-,_0oc8a:006m6<fu~),@S ®o~OJ 
c&,'.)6rnlc66)6m, (.moo.ii OJ0c66)6c0,. (2) 

0

'.H '23' 25 27 29/ 1' 

Luteal pha:,e N=t cycle 
{Secretory phase) begins 

11. ' . rn rn ffi o (7)) uo l uo 6 cOO u3 c:06) njj3 g OJ 6 o m ~ 

CITTcl:) n..()O(uo @o01JCWJ@S oi6r:;iJ~OQJ06n'5" ml6BB 

~2G)5 ®o@1cn.JOCQJo <li(i)6l.i@'kJ5l((ffi))Jc0>. (2) 

IIL @J6l{!J GMh'.JSJCOlOllzlli36)6cnKl..m)1@"3 ~jo>®ffi:>l~o 

,m,%1ci.i (h.J:)Cl~63Bu3oo ~anoY?lQ1DW1m)2dh. fil::)(l:(l):) 

c: ., !3,'JJ,@mlcn~o !'.IlJCH> cn)<Jkfh:l@ nil@lo. 

12. i2lffiJci9:::l}iccilm3 QJ)(ljlw cmmmmile.J6~ 0c8-(0)lCf>,l 

';ljJcfuCJ3 c0:,:)6TT)6)~S6CTD6. OlITTJn91_,\@CTP, 0<B@ 

LCf!l~lm3 <]c0,oa:C1..Do0lmmcru n{J)6BB@mCQJo6TO 

ln.JCllcocmmlc:00 6 CTD((l)? (3) 

13. .0JJOJc;8, @OJ§§ n4)CTDI o.J4c66)u3 ~6TlsOcfu6CTT) 

CfD)0Jj()J(O(f) (Tl)(T)C)nJ LCUl'.)(f)(;;;,) 6).ciJSlcfu6)~ 
0 (() -

O.Jcil<& (T\)ffu061DCID'D)1CD oi](](.\)CQ)Ql'.)c06)1CQJ(l:'k!0(0 

s,m)oo cme.ioi6ocOJ7m3 (f 1) n.Jlffh cnlo06[1§ 

n..J,J c%JCJ3 ~ 6TB OCQJ 7. 

a) ~0:i Ln.J cml rs o cru eom,'l m nJ o cw 6 an 

~n.J6)00ID? 

b) m6ce,~7m3 n.Jo6mllY) G:00G:6TD06)6)nD~6llJlM 

a;cc0,om'5 .c,JlLcm"lc0:,mlc006c0,_ (3) 
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14. V/hatis pedigree analysis? What do the 
following symbols denote in pedigree 
analysis? (3) 

d 

b 

C 

• 0----0 
. 

. 

15. Some birth control measures are given. 
Group them under proper headings. 

Lacational amenorrhea, Condoms, 
Copper-T, Vaults .. LNG-20, Tubectomy/ 
Diaphragms, Coitus interruptus, 
Vasectomy (3) 

16. Tvf endei proposed the first two laws of 
Inheritance based on monohybrid cross 
in pea plants (eg. Tall x Dwarf) 

(3) 

(a) Construct the monohybrid cross 
using Punnet square. 

(b) Define the first two laws of 
inheritance proposed by 1'1endel. 

17. Prepare a flow chart showing the path 
of sperm from the site of production to 
the female reproductive tract (3) 

18. Explain the factors affecting population 
explosion. 

Name two programmes launched by 
Government of India to improve 
reproductive health. (3) 

14. @ nJ (\..Dl L (f) 1 (7JTc) m Clfce.fl <TD 7 cru r.-0) CTD D (!)b n,_'l) mn? 
© 06) go 6) cfu 0 s 6 CT:iTID1 01 c06> J rrn .-iJ1 nm GnBGS 

6)nJ(U)7lUfl cmorne>efl,rnl(rnlm8 r'f.i)OITT16)ffi CTUl~l 

I 

(3) ~l c06) l cm 2. ? 

a 

b 

C 

15. mrncruo61JJiOmlC.QJLCTID6TT)mTmlm,1~ n.11ei 0ocBy7, 

Gm u8 cm D6)<!l61c66) D s 6 rorrnlcol<:06) ,;em 6. (IJfi) 0!6'! CQl 

22 nJ 1 cm 0 a C!2l cm eJ@o.7v') G ;=p6) s cm o o ®l ail <flti) 6 o:fu • 

16, 

17. 

eJOdh GSa9:JGm<v"8 cl(J;6)rl'G«:n ~,olcw, C5&JGf8So, 

c]cfh:)~© gl, GOiOCf3§, n+])(CJ3.n.(J)®.~L ·- 20. s~~'51)J. 

d s 01, cw CQl ln.O o, (] tth o co5lg rn.'i' 2QCTg o cJ J o•,'5, 
w (! ruocruc0,s07. , J 

6)@@cwm8 nJCQJ 01 6).ctJ sla:--., 22JC?J3 ms cmmlmi 
0 

cs0Da6TT1D@@n0u;nflcU:5 G:Lc&O<rtll@m (§JoJ: sou5 

X (U):)ffi nLl) MoS1ffiill Om 00o36J1 @lq)8 ,\ (t16TT;J 

{"~) nJomcrum1 mlCQl06lffiu8 cnla\a,3cml.'.;
2
J6. .... 

(a) nJ;icmg (rudhJCQ)0 ?Jcd(~CQJO(J)I.~ CT<i1lJ(86HX) 

6)@n.OUSnilC\.D GL ,H, om'5 (GI© 201c06) 6 ,it,. 

_ (b) 6) CL ® CW ('.m 

e1 L c0:, o cn51@rn Clf0,i cru nJB m ocB6il m 70 G 1:1 uD l~ 

~B1 (b6ffi nJJ,7)<llJ(/l<\m1C'Q)!2l6l3B(R\ n0)\92, 

®Jcfu, 

ruJ.o6ru1@;!o ,1noan rnlct>ill1l1c:65)@ri:lS2,CTn Cs)UJCcrrrn 

m1cm6o cruum1CQJJ6)5 LnJ®_.~JPJu.lOBm riJLO 

rormlm8 ng)cmmla~0JCTTJ(ffi OJ6)(()(D)~~ <"'LI:)(()) 

(ruJ=f1~1w6>1<TD 6J©J n.CGJ~Oci!Od§ GJ)QJJO 

0 0 ct36J J cfu. 

(3) 

18. ~mcruo6lJ,\cl QJffifil)mn.fl@m rnJK)ill"lml,i¼lJ(TT) 

neJ Scfu 613B(R\ n(l3 6)(/J) ~'flO? 

Lr>.lSilITTITTOG(()Q(/) ~o 6)02i@~S~@u):)(m 212m:n ,\J 

(l)QJ6Tl36JlllClf ~QJ1n'l1d¾J<O laj (CHiTTJ LnJW:JCD 

nJ<ID<mlr:0,uB n(B@<ID~Oo? (3) 
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